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GENERAL INSTRUCTIONS TO THE EXAMINEES :

L.
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Candidate must write first his //“her Roll'No. on the question
paper compulsorily.

Tt UY Bot i A |
All the questions are corripulsory.‘

Siedleh WY S SR & 18 Su-qieen! 8 & ferd |

Write the answer to each question in the given answer-book

only.

fST1 w1 % etk @Us &, 3 |sft & SR w9 & o

For questions having more than one part, the answers to those
parts are to be written together in continuity.

TR O % feral o ofueh wumR o fRw R e / e/ fauenE
B WX fewt W & v W A o

If there is any error / difference / contradiction in Hindi &
English versions of the question paper, the question of Hindi
version should be treated valid.
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Vt\frite down the serial number of the question before attempting
it,
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Welghtage of ma_rks for the questmn is as follows

=T - A (A) 1,(i1§x),2t011" N 20
e - 7 (B) . 12t019=8 2 16
GE-W(C) | 20t023=4 4 16
- @UE -T (D) '24to'25=2 5 10
EE-aAE | 26t028=3 6 18

8. szoﬂzsﬁamﬁa;ﬁmﬁﬁﬂﬁ% [

: There are mtemal ch01ces in Questmn Nos. 20 to 28

g - A

- . Section - A .
 1. 0 14$raﬁm
_'(A) 144 . i § G
 (¢) 196 &, | (D) 225’
The square of 14 will be
A) 144 L B 1
© 196 = (D) 225

mf(x)—ﬁx 2ffx ZT‘@'%WWWW@W

@ s

| (B) 9
© 10 ® 1
) B _2,t
y P\lttmg x=2in polynomlal flx)=6x-2, the value of pc;lyn N

N 8 » - | o o Omia] will be

© 10 D) 11
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(i) aﬁwzﬂ + x+ kI T A6 3T A ko

w12 gy g

© 24 . D) 21
If 3 is a zero of polynomial 2x? + x+ k, then value of;cﬁi‘l.be

@w 2 @y g

© 24 ’ o (D) -21

2 sin? 60° Cos 60° W‘:IF'Y m

The'vallJ;é of 2 si1712 60° cos 60° wﬂl be .
[ QYN
© % @) 2

W&@Wﬂsmﬁ 1ooﬁaaﬁ§ﬁ@mﬁmwwmﬁo°% a}

TR w9 S / .
A 10058 = @ 1905
5043 Mex D) 204

7_ If from a point on the ground which is 100 m away from the foot of me terr

the angle of elevation 6f the top of the tower is 60°, then the height of the tower

is )
(A) | 100J§ metre ) | | 1"'r—-' netre
A , (B metr
(C) 5043 metre (D) /=
_ metr
| . etre
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; | " @ 1) . | B) (o,f,O)"
53} ©) (6,1)‘ o | | (D) (1;‘»0)
{, The coé%‘dinates of origin a'lre_ ' | |

I @ (1) T w '(o,or I

N

40, 1) - -~ D) (1,0)

S (vu)ér ¥,
o m"jjg"ﬁf DE {| BC#, AD- 2@11'131) sﬁq"ramAE 4@IﬁﬁrﬁEC

~ [ N
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- In the given figure, DE ||-BC, AD =2 cm,
. Measure of EC will be

B =. "‘ .
D Scma‘nd‘AE=4 .thv
. ' ' Cm) .48

P S

. A 5cm
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If the height o] cylinder is 11 cm and its curved surface area is 968 'cgﬁQ

(x) W§e95,7,4,8 6B AET

!

5 -

ww o ®

© ™ S @ F

- Number of circles which pass through three collinear points is

(A) oﬁe : , - . B -Atwq

©) V'”ze»‘rb e (D) infinite o |
afi o S 3 S 1120 e s o g G 968 T 6 &, e
(A) .lloétﬁ o | - @ 1R |

(©) jiz@t:ﬁ y, | : = (D) TS

- then the radius of _cylinde; will be

(A) 10em 5N/ LU ¢ (1,3)  11 cm

(). 12cm - - D) 14 cm
. o e

A 4 L @ 5

© e . | D) 7

The x#can of disuiiouﬁori 5,7,4,8,6is

W 4 . 3 ~'(B)‘- 5

© 6 I (D) 7

Previous Pathshala

9



. 6‘ ’
2. “qgﬁf@aq’,'wméﬂéswaﬁmﬁﬁm !
Find the square of 96 by using “Sutra Nikhilam”.
3. 131@3%“?@%?@6111’.’@%%1' o
Find the cube of 13 by usmg ‘.‘;Sutra N1kh11am” Lo
.4'. TR e?vﬁ 3,7 11, 15, .. 1 113 94 0 HRA |

Fmd the 11th term of Anthmetlc Progressmn 3,7, 1 1, 15

5. @wﬁwwmw% lqﬁwsmsﬁaﬁmmmﬁmw

A die is thrown once. Find the probability that the number on the die wiyy
. . . ) be 50

less than 5.

6. 'Ww@ﬁranészmﬁ@ﬂ@ﬁ@m%mwww % %
& S BN Y e T PR |

A card js drawn at random from a well shuffleq deck of 5
: , ' 2 Cards, py
L , . Find the
Probability of jts being a king. ' v

7. AW G et fafaw |
Write the equation of ‘Stoppmg'Distanée’;
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8. aﬁ@mw%rmm%aﬁa%%qzommmﬁsmuﬁr%ﬁr#ﬁm
11 %0 & at 15%&\3@#&?%@%%@%%\%@|

If fare of a car for ﬁrst kilometre is Rs. .20 and after that for every kilometre is

Rs. 11, then find fhe total fare for 15 kilometres.
9. el (-2, 1) (-1, 1) F TR oo a1

The distance between the points (-2, = 1)and (=1, 1) Will be .............

10. Wﬁwﬁaﬁﬁémw%@w erreeeeeeneeenes BT |

d .
The locusv of the centre of rolling circle in a plane will be ... v
11, UF fysd o) < I SO0 ST & | HA § HH T fod I S el oo, gl |
) , . . ! ‘

A coin is tossed twice..-The probability of getting at least orie head will be ..... teeee s

Hig - d
Section - B

1~2. ﬁi@mww ﬁﬁ:@%maﬁmﬁﬁw }

Find the square of 24 by using ‘Nikhilam Base-Sub- base method.

13. Wst -4J§x+4 ow%ﬁwmm|

Fmd the dlscrlmmant of quadratic equation $x -4f3x+4=0.

14 .ﬁ;amaﬁw 2x2+x—1;0$'q€rﬁﬁu§ﬁﬂﬁw |

Find the nature of roots of quadratic equation 2x% + x - 1=0.
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15. tan? 60° +3 cos? 30° I A T HIWT |
it R e e

16. T WAl SHIA TR 1:5 HeX ol o Ft ST i TS 1 W € o St g e o
T HIAR I BT i oS 5 Hex § At HAR By HEs T4 B |

The shadow of a 1'5 m tall student standing on a plane ground ig found to be I m

long and at the same time shadow of a tower on ground is S m Jong then find the

|
|
1

height of the tower. ' . {

|

|

the distance of ABfrom the centre of the circle, l

17. %ﬂ%@ﬁwwwm%afﬂwwvﬁm% IH&AD=34@q°r,AB=3Ow% E
I & %5 § ABFI U AR | | S

AD is adiameter of any circle and ABiis chord. If AD = 34 cm, g - 30
i . le then ﬁnd

15 6.7ﬁmwwmmmz;sﬁmﬁm%| )

Draw a line segment-of length 6:7 cm and divide it into 2 : 3 intery, all |
Y.

19. U HHY F 4 HeX &9 @Y & MY | o Ho FHo oo

\

il

b .g‘w ) l e
R it s P S ey § 6
5 x;{&w%mwwwmggwa;w

R s L
FASeT ST 8757 ST §TBeT T ST I(n=314) %&ﬁﬁ.

A CCTV camera has been installed on the top of 4 t
Straigh
| ’ : Pole of
such that forward traffic can be seen from the jn, f 4
- Ol sight of
S met
re,

of circular path formed by unseen patch aroung
€ pole (
v A=

3:
& g-Math® )
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Section - C

20. Tog =itw fm fomg (2, —2), (=2, 1)T91(5, 2)TH GHHT FS S A9 & |
srerar
Fﬂ?ﬁ'ﬁ”l‘fm%aﬁ*a’rﬁﬂﬁ‘iﬁﬁéw-ﬁw“'W'W‘sffﬂmaq% He o
I SR &} & <7 FHoget qoed & £ |
Prove that the points (. 2, -2), (-2, 1)and (5, 2) are vertices of a right angled
triangle,
OR

Prove that if two corresponding sides in two-trianglestare proportional and the

angles between them are also equal; the two triangles are similar.

. |
|
5 i
|
i i \
|
T T T I I s I R R R W | W N g W L gy s f o e el AJ

21. aﬁﬁgeﬁ,q(s,k}aﬁa(k,smfaap(n, 2) =hl SR ST BTNk H T T
HITAT | '

srerar
fag ST =t 3T THHDIOTE BT, WER TH6Y &d € |

If points A (3, k) and B ( k, 5 ) are equidistant from a point P (0, 2 ), then find the

value of k,

OR

Prove that two equiangular triangles are similar.
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22, @mméﬁmﬁﬁwssﬁa% lmwmﬂsﬁw'znﬁaﬁawﬁw‘
g:m% mrt‘rmraﬁmamaﬁﬁ-ml

| 'mﬁﬁq%ﬁaﬁaqﬁﬁﬁﬁﬁiﬁmaﬁaﬁé%ﬁmiﬁ a?m‘frfa'-g'
‘ | v'wﬁ\mwwﬁwwm%« '

The radius of a cxrcular grassland is 35 m. There is a footpath of width 7 m around

outs1de of it. Find the area of the footpath

OR

§ - Prove that, in two concentric circles if the chord of la.rger circle touches the small r
& e

; one then the point of contact bisects the chord,

23. ﬁwsﬁm@%%m@%mwmaﬁwmmw |
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;wzgﬁﬁm@m@qﬁmwm%@ o@44@ﬁgfmamipﬁqa
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Construct a circle with the
of 44 cm from
measure the

OR

tangenis and verify that they are equal.

8-503

_eaT

gﬁﬁvmaﬁﬁc
) | g @ R nr?

4 3
o | I &I GAHCT 3"
3 | S I AT 3772 -5%) (n>n,
4 WW'W%‘.I”” 2zr
5 | 7ot &1 AT xr2h
6 WWWW 2nrh
7 el @ g &R 2nr2
g a@ﬁﬁﬂm 3nr?
9 WWWWW 4nr?

2,3
10 mem, il

centre O and radius 29 cm. Take a point P at a distance

the centre and draw a pair of tangents to the circle from it. Aiso,
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25, ﬁmmmwﬁ,maﬁﬁrmwﬁﬁq: a

12 - B
Match the following :

1 'Circu;nfex;enée of the circle | ‘ ] A | nr?
2 Area of circle ; | ' ' , B g—nr3

' v 4 3
3 | Volume of cylinder Cl3 n(n 2 ) (> )
4 | Curved surface area of cylinder . D | 2nr —
S. | Volume of sphere - E | nr2n o
6 Curved.surfacg area of hemisphefe F \ 2nrh \“ '
7_| Surface area of sphere G |2 r\\ '
8 | Volume of hemisphere H | 3 n_rT\\\
9 | Total surface area of solid hemisphere I TWT\\
10 .Volume of spherical shell ' ' J‘J 32- nrd

.2x+3y=8
- X-2y=-3
, - gy
~-ﬁmmmwﬁw&ﬁmmﬁm
2x+y = 6
4x-2y=4~'

Solve the followmg pair of linear equatlons by graphica] method

2x+3y=8
x-2y= -3 :
' OR
Solve the follo‘y];ng bair of linear €quations by graphica] me.thod :
2x+y = 6
4x- 2y - 4
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26.. A AR a?.ﬁmrwtﬁ;cm 17 &f W AR 19%41%,?!#4061“1#33163%%1@ |
)

2 45°. —tan2 30°)Wnﬁmaﬁfw |

2 ( cos? 45° + tan2-‘60° ) -6 ( sin”
‘ FYgar
Ry e sieA 1 A T R
IR ( fFT F) 40-50 50-60 | 60-70 70-80 | 80-90 | 90-100
| s | 2 |12 10 15

rithmeti.c prbgressiori are 19 and 41 respectively, then

If €th and 17th terms of an A

find the 40th term-

70-80 | 80-90 | 90-100

A .

Weight ( in kg )

~JNo. of students iy oA
% (_8) ’ mﬁq‘m
ﬁma. it
.20
_nsin
4g-8 46’1
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] T - - 0-10 10-20 20-30 30-40 | 40-50
: BT W WA 4 /28 42 20 6
. . N —4
| If 3rd and 9th terms of an Arithmetic Progression are 4 and (‘ -8) respe'ctiv I th
:i _ which term of it will be zero ? ' * e
OR
Prove that cos4@ - éin4‘6 =1-2 sin26.-
o -
} _ Find the median of the following frequency distﬁbution :
Marks obtained: | 0-10 | 10.20
,' No. of students : 4 28
i : ‘J 4
) , R o ' o N | |
; 28, ﬁwmm%ﬁ%w&muﬁ(;s)wm N
} e - : '8 g)r a} T 03
; HITT | |
|

| g I R — L — 4~ _5¢ec? | | |

1+sin® 1-sin®

AYqar
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Three numbers are in Arithmetic Progression. If their sum is (- 3 and product is 8

then find the numbers.

Pr - T,
ove thgt ,""—"6-" 1—sno

s, pe

OR.

following frequency distribution by step deviation method :

— e A






